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7T ~ beta(A,B) = 0 = n/(1-x) ~ beta2(A,B)
f(m)=B1(A,B) - 1(1- )8!

f(6)=B(A,B) 0A-1(1+6)A+B)

S(H):B'I(A,B) HA'1(1.|. g)-(A+B-2)
7* =(A-1)(A+B-2)
6* =(A-1)/(B+1)
6* =(A—1)/(B-1)
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posterior precision, p
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3. Testing Independence
The composite null hypothesis describing independence
In the contingency table is the constraint

H: Poo=(Pgo+ Po; ) Poo+ P19)=Po.P.o-

Our Figures compares the four statistics, namely,
posterior probability (PP), NPW-inspired exact P-value,
Chi-squared p-values (Chi-2), and the FBST
evidence measure in favor of H (FBST).

For the computation of PP, we made #(H) = #n(A) = 2
In the horizontal axes we placed all sample values of
the difference between the diagonal products,

D = XppX11 — X01X10-
The statistic D in our opinion is highly sensitive

to departures from independence and may be used
as a baseline for the examination of any test statistic.
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e n=32
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4. FBST for the Behrens-Fisher Problem

The posterior probabilities are computed using
the Bayesian Analysis Package (BAP) of Larry ....
For the Behrens-Fisher problem BAP considers
four cases, namely:

a. The means and the standard deviations are the same;
b. The means are the same and the variances differ;

c. The means differ and the variances are the same; and
d. The means and variances differ.

BAP assigns prior probability one forth to each case
and then computes the posterior probabilities
constraining the parameter space to a box defined
by upper and lower bounds to mean and variances.
The posterior probability computed by BAP for the
Behrens-Fisher problem is P(a)+P(b).
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